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Question 3: [20 Marks]
3.1. for the following figure Write down the pseudo code indicating how can you estimate

the area under f(x) by Monte-Carlo Simulation?

3.2. Define: System Thinking - System Dynamics?

3.3. Define Feedback in dynamical systems? Explain the feedback loop and relation
between its polarity and behavior

With best wishes Dr. Reda M. Hussien
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Q1) (10 Points)
A) write a brief definition to each of the following: Data Warehouse, Data
Mining, Business Intelligence, System Effectiveness,

and System Efficiency. (5 Points)

B) Discuss and explain the 10 major roles should be performed by managers?

(5 Points)

Q2) (20 Points) )
cteristics and capabilities of DSS? And what

A) what are the major chara
S? (7 Points)

are the major benefits provided by DS

B) Define expert system? Give ef(amples of ES? And List the maj
of ES? (5 Points)

or benefits

C) Discuss and explain Simon's four phases of decision-making? (8 Points)

Q3) (15 Points)

A) List the major components of DSS, the components of DSS components
and briefly define each of them and. (8 Points)

B) Compare between:
1) static and dynamic models. (4 Points)

2) decision-making under certainty, uncertainty and Risck. (3 Points)

Q4) (15 Points) .
A) write the corresponding Model for the follo
(5 Point)

wing influence diagram?

Income

Unics
sold

T~
Arnount used
in advertisement

Fixed
cost
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B) The following payoff table shows Potential “payoff” depending upon likely
economic conditions.

Alternatives Economic Condition
Recession| Normal| Boom
Project A 4075 5009, 6100
Project B [i) 5250, 12080]
Project C 2500 7000] 10375
Project D 1500 6000 3500

1) According to the optimistic approach and (Maximax) Decision making
method, what is the project to choose? (1 point)

2) According to the pessimistic approach and (Maximin) Decision making
method, what is the project to choose? (1 point)

3) According to the Minimax Regret, what is the project to choose?
(3 Points)

4) Assumes all outcomes equally likely and uses the average payoff, what
is the project to choose? (1 point)

5) Suppose that you have the following Probability of Outcomes:
(Recession = 0.3, Normal = 0.5, Boom = 0.2) according to:

a. Expected Monetary Value (EMYV), what is the project to choose?
(2 point) ’

b. Expected Opportunity Loss (EOL), what is the project to choose?
(2 point)
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Answer the following questions:
Question 1: ' [20 Marks]
1.1. What is GIS? What are GIS Functions?

1.2. What are the components of GIS? How many parts are there?

1.3. Define a data model and describe three primary differences between the two
most commonly used data models?
1.4, List three types of DBMS? How does GeoDatabase differ from traditional

databases?

Question 2: [20 Marks]

2.1. List and compare between Coordinate Systems discussed in GIS course?

2.2. The table below gives the geographic location of two points

A 39°27'45" N, 111°30' 0" W
B 40°20' 0" N, 111°30' 0" W

a) Calculate the latitude and longitude of each point in decimal degrees.
b) Calculate the Cartesian coordinates for each point?
¢) Calculate the distance from A to B in km.

For these calculations assume a Epherical earth with radius 6371 km,

2.3. In going from spherical coordinates (surface) to a flat surface there will be

distortions. Discuss?
2.4. Write a brief description about UTM coordinate system?

Question 3: [20 Marks]

3.1. What is Polygon Inclusion problem? how can you solve it?

3.2. What is Vector Topology? Explain the importance of topology to vector data?

— Page 1of 2
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3.3. For the following figure’

Complete the following tables

Bounding Nodes | Left Poly | Right Poly

oo |ole ;;‘
a

Nodes Co-bounding Arcs

DR W N

With best wishes Dr. Reda M. Hussien
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Kafrelsheikh University

Faculty of Computers & Information . /7
Subject: Introduction to Multimedia Technology N
Time Allowed: 3 Hours
Code: 1T381

R
Answer the following questions

Questionl: (5 points)
Choose the correct answer:
1. Interference between the luminance and chrominance signals is certain in ..coeveeen
(a)S-video (b) Component video (c) Composite video  (d)None of the
! above
T is one of the most important image format because of its historical
connection to the WWW and HTML
(2) PNG {(b) GIF (c) IPEG (d)None of the
above
3. Surround sound is a technique for enriching the fidelity of sound reproduction by
_using ceeeeeeene audio channel from speakers that surround the listener.
(a) Zero (b)one (c)two (d) more than two
A e can achieve a higher resolution with fewer pins.
(2) DV1 (b)Display Port (c) HDMI (d)None of the
above
5. Monochrome image stores each pixelin coooeerrmeeermeeerss
(a) 1-bit (b) 8-bits (c) 24-bits (d) 64-bits
Question2: (5 points)

Complete the following sentences:
s e RS SRS

2. Examples for multimedia authoring SOEEVBTELIS: s o oo vt 55 55 i s o o s s ST e

o8
o=}
3
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&
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HTTP was originally BT SRR RIRE R

[

Main multimedia presentation COIOT PHACIPLE I8 ovovrssrreesmssee s

Question3 8 (10 points)
What is the CMYK colour model? Give an application in which this colour model is mostly
used and explain the reason. Given a colour represented in CMYK colour space as c=04,

M=0.0, Y=0.3, K=0.4. What is its representation in the RGB colour model?

(sl b Y 30
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Questiond: ¥\ ied -8 <= \ (10 points)

Mark the following sentences with True or False and correct the false ones:

4

1. Flickering is occurred in interlacing scanning. « )
2. NTSC is digital video color model. )
3. Human visual system is more sensitive to chrominance than luminance. )
4. Quantization is sampling the analog signal in the time dimension. « )
5. Higher video bit rate accommodate higher image quality. (G

Questions: (10 points)

a) Audio signals are often sampled at different rates. CD quality audio is sampled at 44,1
KHz rate. If the sample size is 8 bits and duration is 2 minutes. What is the file size for

this stereo Audio CD?

b) Using Adobe flash, write the procedure to create an animation to indicate a ball

bouncing on steps. .

Questionb: (20 points)

I- What's Nyquist’s Sampling Theorem? .
2 What is meant by the terms Multimedia and Hypermedia?
3- Chroma sub sampling currently used in video signal. Explain different types ofit.

4- What is color models used for analog video?

FLER UL
Gl el g
Du. Diana ThauvatMosa
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Academic Year
2017/2018
Level Three (CS, IT, IS, SE)
Computer Networks
(IT351)

(60 marks)

Kafrelsheikh University 2 Pages Collegelzgo(i‘g::gzltlers and

Date: 22/5/2019 Time: 180 minutes
Question number one: (30 Marks)

a. Mention the factors that afford the capability to calculate routes for each of

the following protocol: (10 Marks)
| RIP, R | IGRP, [ EIGRP, | BGP, |
b. Specify the role of: (5 Marks)

AAL (ATM Adaptation Layer) Dual-ring in FDDI | OC and STS in SONEH

¢. What is the subnet mask would you use for the 172.31.0.0 network, such
that you can get 10 subnets? (5 Marks)

d. You have been allocated a class ¢ network address of 192.168.10.0. You
need to create at least 8 Subnets. Calculate Network ID, first valid IP, last
valid IP, and Broadcast Address of the first two subnets. (5 Marks)

e. What is the Wildcard Mask for the following IP address 172.16.1.07 ¢ Marks)

Question number two: (30 Marks)
a. Choose the correct Answer ;

1) Facilitates prioritization of data, voice, and video transmissions:
a. QoS | b. Best-effort delivery | c. Network Performance, | d. a&c | e. all true

2) Is a packet-switching protocol, its concern is not with the way packets are
routed from switch to switch between networks, but with defining the
means by which sending and receiving computers:

a. X.25 b. Frame relay | c. SONET [d. ATM e. FDDI f. all true

3} Covers the link access protocol, LAPB (Link Access Protocol, Balanced),
that defines how packets are framed:

F X.25 b. Frame relay | c. SONET |d. ATM e. FDDI f. all true

4) Is a less cumbersome form of packet switching, take advantage of newer digital
transmission capabilities, which offer reliability and lowered error rates:
a. X.25 b. Frame relay | c. SONET |d. ATM e. FDDI f. all true

5) Operates over Permanent Virtual Circuits (PVCs), transmissions follow a
known path and there is no need for the transmitting devices to figure out
which route is best to use at a particular time:

Page 1 0of 2
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a. X.25 b. Framerelay | c. SONET | d. ATM e. FDDI f. all true

6) Designed to be convenient for hardware implementation, and software
controlled therefore, cost is higher compared to others:

a.X.25 | b. Frame relay ¢. SONET d. ATM e. FDDI f. all true

7) Developed to support and help extend the capabilities of older LANS, ,
and to provide a reliable infrastructure for businesses moving even
mission-critical applications to networks:

a.X.25 | b. Frame relay c. SONET d. AT™M e. FDDI f. all true

8) Supports different types of cables i.e Single mode, Multimode:

a.X.25 | b. Frame relay c. SONET d. ATM e, FDDI f. all true

9) The difference in delivery times is known as:

a.Delay | b. Jitter | c. Dropped packets | d.Out of delivery | e. Security | £.Billing

10) Packet delivery over the Internet is unpredictable because of different
paths between endpoints and congestion at a router in the path with a
long queue:

a.Delay | b.Jitter | c. Dropped packets | d.Out of delivery | e. Security | £.Billing

11) If the buffers of path between sender and receiver already full before the
packet arrived, this causes:

a.Delay | b. Jitter | ¢. Dropped packets | d.Out of delivery | e. Security | £.Billing

12) Having no .control over how packets routed on different routes,
dependent on the delays on those routes, this known as:

a.Delay | b.Jitter | c. Dropped packets | d.Out of delivery | e.Security | f.Billing

13) Uses an additive metric, i.e. the links of a path are concatenated, for
calculation of the whole path:

aDelay | b. Billing | c.hop | d.Security | e. a&bé&c | f. a&ckd | g all true
count

14) Which metric, follow a binary composition rule. That is the metric values
are true (or 1), or false (or 0):
aDelay | b. Billing | c.hop | d.Security | e. a&bé&ec | f. a&c&kd | g alltrue
count

15)Is concave metric, i.e. when the links of a path are concatenated; the
minimal determines the availability of the whole path:

aMTU |b.Throughput | c.BW | d.CP |e. a&b&c |f a&kc&d | g alltrue

Best Regards

Dr/ Mai R, I6rah
1 iR, Torabeem Page 2 0f 2
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QI) Choose the correct answer(s): (20 points)

Ly e is a clear and compelling statement that unifies organization effort
(a) Session (b) Vision (c) Mission (d) None of the above,
P is a coordinated set of actions to fulfill objectives purpose goals
(a) Strategy (b)Business strategy. (c) Organizational Strategy (d) Information Strategy
3o smsrivmes plan articulating where business seeks to 20 and how it expects to get there.
(a) Strategy  (b)Business strategy.  (c) Organizational Strategy  (d) Information Strategy
4. ......result when the organization aims to be the lowest-cost producer in the mark place.
(a) cost leadership (b)Differentiation (c) Focus (d)None of the above.
5. Through ............ the organization qualifies its product or service in a way that allows it to
appear unique.
(a) cost leadership (b)Differentiation  (c) Focus (d) None of the above.
6. ... allow an organization to limit its Scope to a narrower segment of the market and tailor
(2) cost leadership (b)Differentiation  (c) Focus (d) None of the above.
7o Model suggest that the speed of the moves and counter moves in any given market
create an environment .
(a) Competitive (b) Hyper competitive (c)Hyper model (d) None of the above
model model
S — Strategy to find fresh ways to reach new customers and better service
(a) DYB (b) BYB (©)GYB (d)None of them
9. thekeyideaof.............. firms achieve competitive advantage through cost leadership
differentiation or focus.
(a) Porters generic (b) Business (c) Dynamic (d)None of them
strategies strateg; environment strategies
10.  the keyideaof ............... » speed, agility and counter move by firm create competitive
(a) Porters generic (b) Business (c) Dynamic (d)None of them
strategies strategy environment strategies

1. Using social IT to extend the reach of stakeholders, both employees and those who outside the
enterprise walls

(a) Collaboration (b)Innovation (c) Engagement (d) All true.

12, Social network, enable individuals to find and connect with each other to share ideas,
information
(a) Collaboration (b)Innovation (c) Engagement (d) All true.

134 frnmmes includes the organization’s design as well as the choices, it makes to define, setup,
and control its work processes
(a) Business (b)Organizational (c) information (d)none of them
strategy. strategy strategy.

4. ... Suggests that the successful execution of business organization strategy

(a) Managerial Levers (b) Customer levels (¢) Management levels (d) None of them.

15, include decision rights, business, process, formal reporting relationships
Organizational variables.

(a)Organizational variables (b) Control variables (c) Culture variables (d) None of them
A6 capmaan Include availability of data, nature and quality of planning and evaluation system.
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(a)Organizational variables (b) Control variables (c)Culture variables  (d) None of them
17. IS allows company to implement ..........

(a)Business strategy. (b) Organization strategy. (c) IS strategy. (d) None of them.
18.  Which of them the components of business diamond?

(a) People (b) Cudtural variables. (c)Control variables.  (d) None of them.
19.  Organizational, cultural and control variables are the key idea of ................

(a) Business process. (b)Managerial levels  (c)Business diamond.  (d) None of them.
20. Managerial Levers suggest that successful execution of ............ comprises the best

combination of organization, control and cultural.

(a) Organizational (b) Informational (c)Business (d) None of them.

strategy: strategy. , strategy.

Q2) Define and explain the Information Systems Strategy Triangle? (5 Points)
Q3) Explain the information system strategy matrix? (5 Points)

Q4) Write a definition for the following terms: Strategy, Information resources, IT asset, IT capability,
Service Level Agreements. (5 points)

Q5) Explain how information resources are used strategically in context of the 5-forces model. (5 Points)
Q6) Draw the Soufcing Decision Cycle Framework Diagram? (3 Points)

Q7) Explain the differences between insourcing and outsourcing, inshoring and offshoring,
and nearshoring and farshoring? (6 Points)
/

Q8) Define and explam Cloud Computing? Cloud Computmg Optlonsr> and Clouds Characteristics?
(7 Points)

Q9) List and define PAPA and why it is important? (4 Points)

With My Best Wishes
DR. Ahmed Elashry
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Answer the following questions:
Question 1: [20 Marks]

L.1. In the context of modelling and simulation, define the following terms:

Computer Simulation - Discrete-Event System- Model of a System ~ Stochastic

System - Monte Carlo simulation
L1.2. write a short note, with graph, about system components??

1.3. what is the difference between discrete and continuous system. Give an example of

each?

1.4. list the main advantages and disadvantages of simulation?

Question 2: [20 Marks]

2.1. Explain how does Next-event time advance work?

2.2. for the Single Server Queuing System write down assumptions and equations of its

specification model?

2.3. for the following DES:

Inter-arrivaltime |3 |4 (126 | -

Service Time 2132|114

complete the table below to the end of simulation

Clock Q) x() Future Event List | B MQ

Where B is server cumulated Busy time and MQ is the maximum number of customers in

queue.
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